SAGINAW
CONTROL &

W
i:"b
11

s OSERVIGE PARTS

GASKET RUI_I_S Catalog No. Lenght Size Product Code

Pour in place oil and water resistant SCE-GA14X1 40 Feet 0.25 x 1.00 P2
gasket made of a urethane closed SCE-GA14X75 50 Feet 0.25 x 0.75 P2
cell sponge material. Self adhesive scE.ca18%50 50 Feet 013 x 0.50 P2

backing. For installation information,
consult our Installation Manual
at www.saginawcontrol.com.
UL, CSA recognized.

IS9 - Industry Standards -
UL Component Recognized
CSA Component Recognized

Catalog No. Length Size Product Code GENTER GHANNEL GASKET

SCE-127617 3.50 2 P2 Designed for use with standard 3.5
inch center channels to maintain a
water tight seals

EMI/RFI SHIELDED GASKET Catalog No. Length Size Product Code

Specifically designed to combine out- SCE-EMIG 7 Feet 0.25 x 1.00 P2
standing attenuation characteristics
and environmental protection against
dust, dirt, moisture, and severe
temperature variations. For Technical
Information, consult our Installation
Manual at www.saginawcontrol.
com. Made of urethane foam
wrapped in nickel plated copper
fabric with adhesive backing.

Catalog No. Length Size Product Code CUNDUCTIVE TAPE

SCE-SLT 50 Feet 3 MILS x 1.00 P2 Copper foil tape with
conductive adhesive backing.
Makes it unnecessary to plate
an enclosure in preparation for
shielding protection. Apply the
tape over unprotected steel in
a small free area around the
perimeter of the door. Provides
protection to the steel against
corrosion and rusting as well as
grounding protection necessary in
shielding protection.

8

MEBHANIGAL DEFEATER FUR Catalog No. Description Product Code §

V-STYI.E DISCUNNECTS SCE-MDV Mechanical Defeater P2 qg’

Designed to prevent the disconnect ¢~ \ipv40o Mechanical Defeater 400 P2 <
from being turned to the on position, =~ amp o

until the master door is shut and
the handle or latch is in the closed/
latched position. Works with most
standard disconnect enclosures with
SCE three-point door hardware or
quarter turn latches. For Technical
Information, consult our Installation
Manual at www.saginawcontrol.com.

439

www.saginawcontrolcom ¢ 95 Midland Rd, Saginaw Ml 48638 @ Phone: 989-/99-68/1 Fax: 989-/99-4524



https://www.saginawcontrol.com/partnumber_info/?n=SCE-GA14X1
https://www.saginawcontrol.com/partnumber_info/?n=SCE-GA14X75
https://www.saginawcontrol.com/partnumber_info/?n=SCE-GA18X50
https://www.saginawcontrol.com/partnumber_info/?n=SCE-127617
https://www.saginawcontrol.com/partnumber_info/?n=SCE-EMIG
https://www.saginawcontrol.com/partnumber_info/?n=SCE-SLT
https://www.saginawcontrol.com/partnumber_info/?n=SCE-MDV
https://www.saginawcontrol.com/partnumber_info/?n=SCE-MDV400

d
.0
—
[e]
(72}
d
o)
3]
3]
«

9

2 5==|SAGINAW
u‘t CONTROL &

e~ QERVICE PARTS

SEALING WASHERS

W

Design.ed for use on the flat surface Catalog No. Suitable For Qty Per Product Code
of environmentally rated enclosures Use With Kit
o d A8 T2 e Eofes o eatamer. SCEBSW9SS 1052 0 "2
mL;st’be rovided for the installation °=r 00 W/2955 V4-20 S0 P2 O
of mounl’?in brackets, drip shields SCEBOWIISS 516 S0 P2
& ots, drip sMeITS sCE-BSwasss 3/8 50 P2
and other accessories on the inside
or outside of the enclosure body or
doors.
IS10 - Industry Standards -
UL Component Recognized
Catalog No. Description Qty Per  Product Code Designed for use in free-ste?nding
Kit enclosures to allow mounting of
SCE-PS3816CN 3/8-16 Strut Nut 20 P2 additional equipment.
SCE-PS1420CN 1/4-20 Strut Nut 20 P2

SCE-PS1420CN SCE-PS3816CN
Designed for use Wi.th the SCE light Catalog No. Description Qty Per Product ,’h
channels on the inside top of larger Kit Code v /) 7
enclosures. For quick easy installation 5 psi03o0 10-32 for Srmall Channel 20 P2 /
of lights.
| res; Catalog No. Description Qty Per Product Clamping nuts with a #10-32 retained
a Kit Code nut to fit all rack mounting angles
SCE-CN1032  10-32 for Rack Angles 20 P2 and rack mounting frames to provide

tapped holes. Nuts are zinc plated.

40

www.saginawcontrolcom ¢ 95 Midland Rd, Saginaw MI 48638 ® Phone: 989-/99-68/1 Fax: 989-/99-4524


https://www.saginawcontrol.com/partnumber_info/?n=SCE-PS1420CN
https://www.saginawcontrol.com/partnumber_info/?n=SCE-PS3816CN
https://www.saginawcontrol.com/partnumber_info/?n=SCE-BSW19SS
https://www.saginawcontrol.com/partnumber_info/?n=SCE-BSW25SS
https://www.saginawcontrol.com/partnumber_info/?n=SCE-BSW31SS
https://www.saginawcontrol.com/partnumber_info/?n=SCE-BSW38SS
https://www.saginawcontrol.com/partnumber_info/?n=SCE-PS1032CN
https://www.saginawcontrol.com/partnumber_info/?n=SCE-PS3816CN
https://www.saginawcontrol.com/partnumber_info/?n=SCE-PS1420CN
https://www.saginawcontrol.com/partnumber_info/?n=SCE-CN1032

SAGINAW
CONTROL &

W
i:"b
11

s~ QERVICE PARTS

TUUCH'UP PAINT Catalog No.

Available in spray can or paint pen for SCETUOS
small scuffs and scratches.

SCE-TUQ?
*Consult factory for pricing of custom w
colors. —_—

SCE-PENQ9

SCE-PEN7035

REPLACEMENT KEYS Catalog No.

Standard keys for standard and

optional door hardware. SCE-K333
SCE-KC101
SCE-2233X
SCE-110047
SCE-101695
SCE-101697
SCE-107930

REPLACEMENT HINGES catalog No.

Standard hinges for standard SCE

enclosures. Includes hinge, pin and SCE-3916
clip. SCE-3916SS

SCE-3918
SCE-3218SS
SCE-ELJHINGE
SCE-101670
SCE-101226
SCE-101221

CAPTIVE SCREWS Catalog No.

Standard captive screw for use on
screw cover enclosures. Stainless SCE-102534

steel with nylon retainer.

www.saginawcontrolcom ¢ 95 Midland Rd, Saginaw Ml 48638 @ Phone: 989-/99-68/1 Fax: 989-/99-4524

Description Color Product Code
Spray Can SCE-05 White P2
Spray Can ANSI-61 Gray P2
Spray Can RAL 7035 Gray P2
Paint Pen SCE-05 White P2
Paint Pen ANSI-61 Gray P2
Paint Pen RAL 7035 Gray P2
Description Qty Per Product

Standard Key for Quarter Turn
Standard Key for SCE L-Handle

Standard Key for Mini Quarter Turn

5mm Double Bit
7mm Square
8mm Square

7mm Triangular

Description Qty Per Product
Package Code
Large Concealed Hinge 1 P2
Large Concealed Stainless Steel Hinge 1 P2
Small Concealed Hinge 2 P2
Small Concealed Stainless Steel Hinge 2 P2
ELJ Hinge 1 P2
Retaining Clip for Concealed Hinge 20 P2
Small Hinge Pin 20 P2
Large Hinge Pin 20 P2
8
Description Qty Per Product Code g
Package 3
10-32 X 5/8 Captive Screw 12 P2 8
for PB & Screw Cover Enclosure (@)

Package Code
2 P2
2 P2
1 P2
1 P2
1 P2
1 P2
1 P2

44|



https://www.saginawcontrol.com/partnumber_info/?n=SCE-TU05
https://www.saginawcontrol.com/partnumber_info/?n=SCE-TU09
https://www.saginawcontrol.com/partnumber_info/?n=SCE-TURAL7035
https://www.saginawcontrol.com/partnumber_info/?n=SCE-PEN05
https://www.saginawcontrol.com/partnumber_info/?n=SCE-PEN09
https://www.saginawcontrol.com/partnumber_info/?n=SCE-PEN7035
https://www.saginawcontrol.com/partnumber_info/?n=SCE-K333
https://www.saginawcontrol.com/partnumber_info/?n=SCE-KC101
https://www.saginawcontrol.com/partnumber_info/?n=SCE-2233X
https://www.saginawcontrol.com/partnumber_info/?n=SCE-110047
https://www.saginawcontrol.com/partnumber_info/?n=SCE-101695
https://www.saginawcontrol.com/partnumber_info/?n=SCE-101697
https://www.saginawcontrol.com/partnumber_info/?n=SCE-107930
https://www.saginawcontrol.com/partnumber_info/?n=SCE-3916
https://www.saginawcontrol.com/partnumber_info/?n=SCE-3916SS
https://www.saginawcontrol.com/partnumber_info/?n=SCE-3918
https://www.saginawcontrol.com/partnumber_info/?n=SCE-3918SS
https://www.saginawcontrol.com/partnumber_info/?n=SCE-ELJHINGE
https://www.saginawcontrol.com/partnumber_info/?n=SCE-101670
https://www.saginawcontrol.com/partnumber_info/?n=SCE-101226
https://www.saginawcontrol.com/partnumber_info/?n=SCE-101221
https://www.saginawcontrol.com/partnumber_info/?n=SCE-102534

SAGINAW
CONTROL &

wr s~ QERVICE PARTS

Catalog No. Fits Fan Package Fits Filter Qty Per Product REPLACEMENT F”_TERS

WA
i:"’»
LL

No. Assembly No. Package Code Designed for use with SCE Fan
SCE-RF44 SCE-FA44/230 SCE-FGA44 1 P2 Packages and Filter and Grille
SCE-RFé6 SCE-FA66/230 SCE-FGA66 1 P2 Package. Aluminum washable filters
SCE-RF1010 SCE-FA1010/230  SCE-FGAI010 1 P2 provide good air filtration.
SCE-RE517 SCE-BP115/230 SCE-FGABP 1 P2

Catalog No. Fits Fan Package Fits Filter Qty Per Product TYPE |2 REPLAGEMENT F"_TERS

No. Assembly No. Package Code Designed for use with SCE Type
SCE-113947  SCE-N12FA44 SCE-N12FGA44 6 P2 12 Fan Packages and Filter and
SCE-113188  SCE-N12FA66 SCE-NT2FGA66 6 ) Grille Package. Filters are

made of non-woven polyolefin

SCE-108401 SCE-N12FA1010 SCE-N12FGAT1010 6 P2 fiber. Washable up to 10 times.

Catalog No. Description Qty Per Product BU I_T PAC KS

Package Code Standard bolt packs for wall-
SCE-”3282 Dead Front Four Hinge BOH: Pack 1 P2 mounting,sub_panelsl and grounding
SCE-102018 Floor Stand Kit Bolt Pack 8 P2 for standard SCE enclosures.
SCE-114318 Grounding Kit, 1/4-20 1 P2
SCE-101966 Grounding Kit, 10-32 1 P2
SCE-102297 Grounding Kit, 3/8-16 1 P2
SCE-108619 IMS End Plate Bolt Pack 1 P5
SCE-102023 Side Mount Subpanel Bolt Pack, 3/8-16 6 P2
SCE-102022 Standard Defeater Hook Bolt Pack 1 P2
SCE-102225 Subpanel Bolt Pack, 1/4-20 8 P2
SCE-102302 Subpanel Bolt Pack, 10-32 4 P2
SCE-102298 Subpanel Bolt Pack, 3/8-16 4 P2
SCE-102300 SubPanel Bolt Pack, 3/8-16 8 P2
SCE-101974 Wall Mount Bolt Pack, EL 3/8-16 4 P2
SCE-102686 Wall Mount Bolt Pack, ELJ 4 P2
SCE-120706 ELJ Enclosure Hardware 4 P2
SCE-121454 Free-Standing Master Bolt Pack 1 P2
SCE-122191 Wall Mount Master Bolt Pack 1 P2
SCE-123581 Nema 1 Master Bolt Pack 1 P2

8 Catalog No. Used In Light Fixture Product Code REPLAGEMENT LED BUI_BS

§ SCE-LEDB18 SCE-LF18 & SCE-LF18NO P2 Replacement bulbs for the LED light fixtures.
b SCE-LEDB24 SCE-LF24 & SCE-LF24NO P2

§ SCE-LEDB18DC SCE-LF1824VDC P2

9

Catalog No. Product Code STAINI.ESS STEEL GLEANER

SCE-SSCLEAN P2 20 ounce aerosol can.

442

www.saginawcontrolcom ¢ 95 Midland Rd, Saginaw MI 48638 ® Phone: 989-/99-68/1 Fax: 989-/99-4524



https://www.saginawcontrol.com/partnumber_info/?n=SCE-RF44
https://www.saginawcontrol.com/partnumber_info/?n=SCE-RF66
https://www.saginawcontrol.com/partnumber_info/?n=SCE-RF1010
https://www.saginawcontrol.com/partnumber_info/?n=SCE-RF517
https://www.saginawcontrol.com/partnumber_info/?n=SCE-113947
https://www.saginawcontrol.com/partnumber_info/?n=SCE-113188
https://www.saginawcontrol.com/partnumber_info/?n=SCE-108401
https://www.saginawcontrol.com/partnumber_info/?n=SCE-113282
https://www.saginawcontrol.com/partnumber_info/?n=SCE-102018
https://www.saginawcontrol.com/partnumber_info/?n=SCE-114318
https://www.saginawcontrol.com/partnumber_info/?n=SCE-101966
https://www.saginawcontrol.com/partnumber_info/?n=SCE-102297
https://www.saginawcontrol.com/partnumber_info/?n=SCE-108619
https://www.saginawcontrol.com/partnumber_info/?n=SCE-102023
https://www.saginawcontrol.com/partnumber_info/?n=SCE-102022
https://www.saginawcontrol.com/partnumber_info/?n=SCE-102225
https://www.saginawcontrol.com/partnumber_info/?n=SCE-102302
https://www.saginawcontrol.com/partnumber_info/?n=SCE-102298
https://www.saginawcontrol.com/partnumber_info/?n=SCE-102300
https://www.saginawcontrol.com/partnumber_info/?n=SCE-101974
https://www.saginawcontrol.com/partnumber_info/?n=SCE-102686
https://www.saginawcontrol.com/partnumber_info/?n=SCE-120706
https://www.saginawcontrol.com/partnumber_info/?n=SCE-121454
https://www.saginawcontrol.com/partnumber_info/?n=SCE-122191
https://www.saginawcontrol.com/partnumber_info/?n=SCE-123581
https://www.saginawcontrol.com/partnumber_info/?n=SCE-LEDB18
https://www.saginawcontrol.com/partnumber_info/?n=SCE-LEDB24
https://www.saginawcontrol.com/partnumber_info/?n=SCE-LEDB18DC
https://www.saginawcontrol.com/partnumber_info/?n=SCE-SSCLEAN

e ey i |SAGINAW
SCE Ry
ENGINEERING
Your Enclosure Source® AG S E RV I G E PA RTS
REPLAGEMENT A[: FII_TERS Catalog No. Fits AC BTU Qty Per Product
Designed for use with SCE Air Package Code
Conditioners. Aluminum washable SCE-ACI10BF1 1000 4 P2
filters provide good air filtration.  SCE-ACI8BF] 1870, 2550, 3400 4 P2
SCE-ACH1BF1 5100, 6800 4 P2
SCE-AC85BF1 8500, 10200, 13650 4 P2

w
0
—
o
(723
w
0]
%)
3]
5

443

www.saginawcontrolcom ¢ 95 Midland Rd, Saginaw M| 48638 @ Phone: 989-/99-68/1 Fax: 989-/99-4524



https://www.saginawcontrol.com/partnumber_info/?n=SCE-AC10BF1
https://www.saginawcontrol.com/partnumber_info/?n=SCE-AC18BF1
https://www.saginawcontrol.com/partnumber_info/?n=SCE-AC51BF1
https://www.saginawcontrol.com/partnumber_info/?n=SCE-AC85BF1

	Button 194: 
	Page 439: 
	Page 441: 
	Page 443: 

	Button 196: 
	Page 439: 
	Page 441: 
	Page 443: 

	Button 95: 
	Page 439: 
	Page 441: 
	Page 443: 

	Button 96: 
	Page 439: 
	Page 441: 
	Page 443: 

	Button 198: 
	Page 439: 
	Page 441: 
	Page 443: 

	Button 193: 
	Page 440: 
	Page 442: 

	Button 2010: 
	Page 440: 
	Page 442: 

	Button 195: 
	Page 440: 
	Page 442: 

	Button 197: 
	Page 440: 
	Page 442: 

	Button 93: 
	Page 440: 
	Page 442: 

	Button 94: 
	Page 440: 
	Page 442: 



